
A húrnégyszög területe:

t =
√

(s− a)(s− b)(s− c)(s− d), ha s =
a+ b+ c+ d

2
.

Minthogy

a : b : c : d = 5 : 6 : 7 : 9,

azért

b =
6a

5
, c =

7a

5
, d =

9a

5
,

s így

s =
27a

10
;

ezt az értéket a terület képletébe téve:

a = 7, 609 
m, b = 9, 131 
m, c = 10, 653 
m, d = 13, 696 
m.

A szögeket a következ® képletb®l nyerjük

tg

α

2
=

√

(s− a)(s− b)

(s− c)(s− d)
, tg

β

2
=

√

(s− b)(s− c)

(s− a)(s− d)
, stb.

ezekb®l kapjuk:

α = 68◦13′34′′, β = 96◦56′, γ = 111◦46′26′′, δ = 83◦41′.

(Neidenba
h Emil, Arad.)
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